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State the possible rational zeros for each function.

D flx)=x*+6x*-16 2) f(x)=6x" +3x* +16x> +8x*> + 10x + 5
\\%’- A8 Y P % ‘\1h A\ ? ]
Titarytetie Tizxs l
=l -arf":l,tq;t%;t\‘u = 2 tl:. ‘:\ITS):[1,15/1,:‘:'[3,i$/3|i'lu,is/u
Find all zeros.
3) f(x)=3x> - 5x - 14 From Fraph: 2 4) f(x)=5x+x*-5x -1 From grph -1,
2] 3 o -5 —iy Y o s -3 -
¥ 6 12 iy " — Y -5
o % - _ Lf.‘/
3 L 3 Lev X=-t4iJ3 5 :1 ;,‘
3 LS o o 5 s
X +bx+> 2_‘1_1;\1—3- \L -y s
==Lt Ee-40Y® /. N | Sx+\=o —
a2 X=271t23 A=)
3 X=-'Is

5) flx)=3x" - x> =31x* = 3x
Fraon %raqa\n: -3,0
X =10 £J160 4 (3N

3l3 -1 -3 _3

2(A
vV -9 30 2 ‘
ij"s —-10 - L<_)\/ x:\Qt\l TE N ____'__3, C})"stl\lg
b e e G E)
5 ~IC X=10 ";L{ﬁ: s+23
\’ e 3

A polynomial function with rational coefficients has the follow zeros. Find all additional zeros.
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Write a polynomial function of least degree with integral coefficients that has the given zeros.
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Factor each and find all roots.
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